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AQA - Further calculus — A2 Further Mathematics P1

1. June/2021/Paper_7367/1/No.9
Use I’'Hopital’s rule to show that

lim (xe ™) =0
X— o0

Fully justify your answer.
[4 marks]
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2. June/2021/Paper_7367/1/No.10

Evaluate the improper integral
8
J Inx dx

showing the limiting process.
[6 marks]
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3. June/2021/Paper_7367/1/No.14

The hyperbola H has equation 12 — x2 = 16
The circle C has equation x2 + 2 =32
The diagram below shows part of the graph of H and part of the graph of C.

v

0 , X

Show that the shaded region in the first quadrant enclosed by H, C, the x-axis and the
y-axis has area

16 V2 +/6
5 an( 255

[12 marks]



